Module 4 - Background

Activity Based Costing 
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	In this module, we will first look at an overview of product costing. It is very important that you understand why the traditional uses of product costing give sub optimal results when fixed costs are included in the product or service that is rendered.
This background information page will include more text and fewer web links as the essential points are frequently buried in cost accounting mechanics in the web sites.  This is a most essential concept in this course, so I have taken the liberty of clearly spelling out exactly what you should take forward to subsequent modules and to your own applications.
Here are the new terms for this module.  Be sure you are comfortable with each of these terms:
· Product Costing
· Cost Pool
· Activity Base
· Cost Objective
· Activity Based Costing
· Cost Driver
There are four inputs into the product.  They are direct (or raw) materials, direct labor and overhead.  Direct material is a variable expense.  Direct labor is variable if compensation is hourly-based, but fixed if salaried.  Overhead has generally both a fixed and a variable element.
 

Variable overhead includes such elements as supplies, minor parts, and a portion of electricity or other power sources.  
Fixed overhead includes such elements as supervisory labor, rent, insurance, and a portion of electricity or other power sources.
There is no problem with identifying the variable elements (direct materials, direct labor, and variable overhead) with the product.  In fact, when we produce another unit, we incur addition variable costs.
The difficulty is in the application of the fixed overhead to the product.  By definition, fixed costs do not increase as we produce an additional unit of product.  Instead, fixed costs increase in large increments, for example acquisition of a new piece of equipment, the hire of a new supervisor, etc.
In the following slide presentation, these points are highlighted.  Click here.
Now, let's look at how traditional fixed overhead is added to the product.  In the slide presentation below, the variable costs (direct materials, direct labor, and variable overhead) have already been assigned to the product.  The costs incurred refer only to the fixed costs that must be allocated to the product.
Note the three steps.  In the first step, we must decide which costs are to be allocated and to which product.  This is the definition of the cost pool.  Next the fixed costs are identified and assigned to the cost pool.
Click here for the slides.
ABC modifies traditional product costing by assigning costs to activities instead of cost pools.  There is a careful analysis of the process to define the appropriate activities and then a cost driver (allocation method) is selected to allocate these costs to the product.  ABC also recognizes the existence of two types of variable costs, unit-level and batch-level.  Under the traditional approach some of the batch-level variable costs may have been erroneously classified as fixed costs thereby distorting cost information.
Required and Optional Readings:
Read or view the following articles or presentations.
Explanation of Activity Based Costing from AccountingCoach.com (optional).
An ABC Tutorial from ASA (Assistant Secretary of the Army for Financial Managment and Comptroller).  The link is at the bottom of the left side of the website (optional).
Click here to read: Activity Based Costing (ABC): What is it and how can reengineering teams use it?, Retrieved October 31, 2008 from: http://www.prosci.com/abc1.htm
Click here to read: Saldarini, K. (2000). Scholars tout benefits of activity-based costing, Retrieved October 31, 2008 from: http://www.govexec.com/dailyfed/0200/022300k1.htm
The following set of slides illustrate ABC as opposed to traditional product costing.  Note the three steps that begin with an identification of the relevant activities. Click here for the slides.
For another excellent discussion on ABC, click here.
In this illustration we have the same costs and products as in the traditional illustration.  In step 1, we identify three activities for which costs can be segregated - the ordering, cutting, and painting activities.
In step 2, we identify that portion of the previous cost pool costs that are associated with each of these activities.
In step 3, we develop individual cost drivers for each activity and assign the costs based on the activity incurred by each product.
The result is that a significant portion of the costs are now allocated to the products on the basis of the activities generated by those products. 



